Purchase Order

TRAVEL FOOD SERVICES LIMITED

Order Number: TFSPL/PO/24-25/000171

Supplier Detail	Shipped Location	Invoice Location
Rudra Ineriors Supplier Code : RV232421261 [V0003041]	TRAVEL FOOD SERVICES LIMITED Delhi	TRAVEL FOOD SERVICES LIMITED Delhi
(V0003041)	New Terminal 1, Indira Gandhi International Airport, Domestic Departure SHA, Mehram Nagar, New Delhi, New Delhi, Delhi, 110037	New Terminal 1, Indira Gandhi International Airport, Domestic Departure Sha, Mehram Nagar, New Delhi, New Delhi, Delhi, 110037 GSTIN No: 07AADCB2762L2ZJ
PAN No : AAKCR0606C Supplier GST No : 06AAKCR0606C1ZV Supplier Contact No : Contact Person Name : Manoj Supplier Email : manoj@rudrasip.com	Cost Center Code : 90192014 Cost Center Name : Dilli Streat Project ID : 0 PO Category : Capex NSO	Payment Term: Advance Payment - 40% along with work order. RA BILL - Up to 95% after work completion & submission of invoice. Retention 5% DLP till completion of 6 months. PO Creation Date: 02/05/2024 PO Approval Date: 13/05/2024 PO Currency: INR
		Buyer Name : Jogeswar Sahu

Sr.No	Item Code	HSN\SAC Code	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	IGST %	Gross Total Amount
1		9954	Plumbing	PR for Plumbing for Delhi T1-Dilli	C01	1.00		1,002,202.00	0.00	1,002,202.00	1,002,202.00	18	1,182,598.36
				Streat									

Total Qty: 1.00

Total Basic PO Amount 1,002,202.00

Total Other Charges

IGST Amount 180,396

Amount In Words: Rupees Eleven Lakh Eighty Two Thousand Five Hundred Ninty Eight And Thirty Six Paisa Only

Remarks:

Standard Terms And Condition:

Completion / Delivery TimeLine: 3 Months

Mobilization Date: 06/05/2024

Defects Liability Period: 6 Months

Retention Percentage: 5

Grand Total PO Amount

1,182,598.36

Escalation Buyer Detail							
Name	Mobile No.	Email - ID					
Jogeswar	9082949517						
Binu Balachandran	8452876061						

Disclaimer :

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2: Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ItemCode

ItemName : Plumbing

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1		DRAINS, TRAPS CLEANOUTS			0.00	0.00	0.00
2		DRAINAGE SYSTEMS PIPING			0.00	0.00	0.00
3	A.5.4	100 mm Dia	Mtr		6.00	2,145.00	12,870.00
4	B.1	Supply, Installation, Testing Commissioning of Electric Water Heater with safety valve arrangement and accessories like angle valve, flexible pipes, C.P bolts, screws, washers, etc. and proper supports necessary as per standards and site condition requirements. (Make Crompton Bajaj or equivalent with Airport approval)			0.00	0.00	0.00
5	B.4.1	15 mm Dia Inlet (Outlet size to fit with plumbing eqp fixture connection)	Nos		19.00	1,650.00	31,350.00
6	B.5.1	15 mm Dia	Mtr		25.00	310.00	7,750.00
7	B.1.1	30 Liters vertical storage water heater	Nos		1.00	25,000.00	25,000.00
8	B.2.1	15 Ltrs Hr - Flow Rate	Nos		5.00	18,000.00	90,000.00
9		WATER SUPPLY PIPE VALVES ACCESSORIES			0.00	0.00	0.00
10	B.4	Supply, Installation, Testing, and Commissioning of chrome plated Angle Valve with wall flange rosette for all plumbing equipment fixtures with a pressure rating of 16 Bar of approved make and with all necessary fittings. Including making good the wall partition as per Architectural Interior Design and as per relevant standards. (Makes NECO or equivalent with Airport approval)			0.00	0.00	0.00
11	B.6	Supply, Installation, Testing Commissioning of Copper Pipe conforming to BS 2871 EN 1057, (continous operating temperature range of maximum 90°C) with all necessary fittings such as sockets, bends, elbows, tees, reducers, unions etc, and proper supports necessary as per standards and site condition requirements. (Make Manibhadra fittings or equivalent with Airport approval)			0.00	0.00	0.00
12	A.1	Supplying, Installing, Testing Commissioning of Greese Trap or Grease Interceptor (Above Ground floor) of 304 grade stainless steel material with interceptor body, preforated bucket, baffles, integral trap, inlet outlep pipe sleeve and stainless steel interceptor cover of approved make and with all necessary fittings connectors etc. (Make Nugreen, Kessel and Concessionaire can propose another make in SS material.)			0.00	0.00	0.00
13		VALVES ACCESSORIES			0.00	0.00	0.00
14		INTERCEPTORS SEPERATORS			0.00	0.00	0.00
15	A.2	Supplying, Installing, Testing Commissioning of ABS Air Admittance Valve conforming to EN 12380, with an air admittance air flow rate of 6.1 L s and a temperature range of operation from -20 C to + 60 C of approved make with all necessary adapters, fittings and connectors etc. (Make Astral Supreme for Pipe and Fittings)			0.00	0.00	0.00
16	A.1.1	NGT 8 - Flow Rate (0.30 LPS 18 LPM)	Nos		2.00	41,875.00	83,750.00
17	A.3.1	75 mm Dia - Outlet	Nos		9.00	23,000.00	207,000.00

18	A.1.2	NGT 14 - Flow Rate (0.46 LPS 28 LPM)	Nos	3.00	56,875.00	170,625.00
19	A.3	Supplying, Installing, and testing of AISI 304 grade Stainless Steel Floor Drain with top square anti-slip mesh grating drain cover of 300 X 300 mm, lateral horizontal outlet, with removable waste basket, odor water seal trap of approved make with all necessary adapters, fittings, and connectors etc. (Make Custom made)		0.00	0.00	0.00
20	A.5.4	75 mm Dia	Mtr	35.00	1,250.00	43,750.00
21	B.3	Supply, Installation, Testing Commissioning of Brass Ball Valve with full bore lever operated, SS ball and stem with a pressure rating of 16 Bar of approved make and with all necessary fittings. (Makes NECO or equivalent with Airport approval)		0.00	0.00	0.00
22	A.3	Supplying, Installing, and testing of AISI 304 grade Stainless Steel Floor Drain with top square anti-slip mesh grating drain cover of 600 X 300 mm, lateral horizontal outlet, with removable waste basket, odor water seal trap of approved make with all necessary adapters, fittings, and connectors etc. (Make Custom made)		0.00	0.00	0.00
23	A.4.1	100 mm Dia - Outlet	Nos	3.00	2,100.00	6,300.00
24	B.5	Supply, Installation, Testing Commissioning of (Chlorinated Poly Vinyl Chloride) CPVC Pipe conforming to IS 15778, ASTM D 2846, in SDR 11 Class 1, (temperature range of maximum 82°C) with all necessary fittings such as sockets, bends, elbows, tees, reducers, unions etc, and proper supports necessary as per standards and site condition requirements. (Make Astral Supreme for Pipe and Fittings)		0.00	0.00	0.00
25	B.5.3	25 mm Dia	Mtr	35.00	515.00	18,025.00
26	A.5.1	32 mm Dia	Mtr	10.00	865.00	8,650.00
27	B.7.1	15 mm Dia	Mtr	3.00	150.00	450.00
27	B.6.1	15 mm Dia	Mtr	3.00	1,900.00	5,700.00
28		COLD WATER SUPPLY PIPING		0.00	0.00	0.00
29	B.5.2	20 mm Dia	Mtr	25.00	397.00	9,925.00
30		PIPING THERMAL INSULATION		0.00	0.00	0.00
31	А	DRAINAGE SYSTEM		0.00	0.00	0.00
32	A.5.3	50 mm Dia	Mtr	22.00	1,050.00	23,100.00
33	B.2	Supply, Installation, Testing Commissioning of RO Filteration Unit for supplying pure filtered potable water to equipments like Combi-steamers baking ovens, Fresh water taps Coolers, Coffee Espresso machines, Dish-washers, Post-mix machines, Ice-machines, and Boiling-water taps etc. with necessary prefilters, filter cartridges, manifold heads, mounting brackets, shutoff valves, flushing valves, pressure gauges, and suitable connectors etc. Final make, model and details to be finalized by specialist vendor after examining the water test report of incoming water supply provided at site. (Make Eco Smart Aquaguard or equivalent with Airport approval)		0.00	0.00	0.00

	•		-	Total :	249.00		1,126,070.00
43	В	WATER SUPPLY SYSTEM			0.00	0.00	0.00
42	A.5.2	40 mm Dia	Mtr		20.00	920.00	18,400.00
41	A.2.1	32 mm Dia	Nos		9.00	7,500.00	67,500.00
40	A.1.3	NGT 70 - Flow Rate (2.20 LPS 132 LPM)	Nos		1.00	108,125.00	108,125.00
39	B.3.1	15 mm Dia	Nos		8.00	2,850.00	22,800.00
38		WATER SUPPLY EQUIPMENTS			0.00	0.00	0.00
37	A.5	Supplying, Installing, Testing, and Commissioning of uPVC Pipe, for drainage with all necessary fittings such as bends, wye s, reducers, san tee s, double wye s, double combinations, san cross, and cleanout plugs etc, of approved make. and with all necessary supports clamps for the above-raised floor pipes as per standards and site conditions requirements. (Make Astral Supreme for Pipe and Fittings)			0.00	0.00	0.00
36	A.4	Supplying, Installing Testing of cast iron Floor Trap (150 mmx 150 mm) with Stainless Steel slotted top cover, odour water seal trap of approved make with all necessary adapters, fittings and connectors etc. (Makes NECO or equivalent with Airport approval)			0.00	0.00	0.00
35	A.3.1	75 mm Dia - Outlet	Nos		5.00	33,000.00	165,000.00
34	B.7	Supply fixing of Pipe Insulation of 13 mm thick, with Polyethylene-based, closed-cell foam pipe insulation and polymer protective coating to prevent external mechanical damage of approved make for Hot water pipe with a operating temperature range of 0°C to 100°C, Thermal conductivity (?) 0.038 W m-K @ 40°C including suitable adhesives to fix the insulation to pipe. (Make Thermax, Maxima, Fuelpac or equivalent)			0.00	0.00	0.00